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14)2a 4 fr 8 @ v2iE B 1 2.64 2.00 0.99 1.0 14| % 1 5.08 2.62 2.01 14
5]zt £ & ST B 1 2.64 2.00 0.50 1.0
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6] 4 9.21 6.45 181 47 |elim 3 13.45 679 118 52 |6|um 1 4.74 324 267 37
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Tl EEESLES 1 6.75 4.73 0.36 1.2 9 & 1 6.24 3.63 0.62 2.0 9= v au % 1 6.75 4.30 2.45 3.2
10|+ 7 wR 1 6.75 4.30 2.45 1.2 |10)55 = % 1 6.24 2.67 1.00 2.0 J10|ziie A & <= B 1 6.75 2.47 1.19 3.2
H o2 & o 5 F) 15 48.65 25.18*  0.59* 183 B2t X s ) 7 43.67 23.68*-  0.58 13.7 B2 X g F) 2 1351 5.18*  0.32 6.5
11 v e 2 6.49 4.26%- 037 24 1155 R 1 6.24 2.67% 034 20 |1 24cml B § 1 6.75 1.30 28.33 3.2
12) %% 2 6.49 4.13 2.75 2.4 12| % 1 6.24 2.54 2.08 2.0
13] % 71 (O e 1 6.24 2.54*-  0.39 12 |13 sisp RO A 1 6.24 2.54*% 039 2.0
1820 2 & = 1 3.24 1.38 0.53 1.2
15] % = % 1 3.24 1.13 0.76 1.2
o LR EE e Y A v e $430,8334  F 16,029+ A 1214,804 4 o
2. {5 v 7 = & ( Standardized rate) % 22000 W.H.O, & % A v Ed 4 5 A o Tk ) L 7R 5= FRF MM SRR = &5 T ) 27 5= FAFF 5045 SR8 5= F(0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
4, TR KR LA AR FLE R Rt B R A vt




g2 2 B R~ D K R L 2
5 0 B ¥ & M B ORE & - R F
% ®105# (2016 )
£ o 7 B ~ B
g, B 7= et 1 1 i3 r= e & 5= ALy 12 i i »= | B 7= e I A 1% 7=
;= R O7 A ?]‘/,,\LL = R O¥ gHAD ‘F]’/,,\L'- = R 9] LA ’ﬁ/,,\kL

i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % [l (ICD-10% #f) A #c o= & =& Fe= %

54 e 7 131 38309  18258*+ 126* .00.0 4 g 7 87 48098  250.44*+ 128* .00.0 st Ao ] 44 27316  113.66 117 .00.0

g 106 30098  150.24*+ 137* 809 L 80 44228  229.32*+  1.40* 920 T g 37 22970  10352*+ 146* 841
i tismn | 30 87.73 40.00 123 229 |1lis - tisgemn | 22 12163 6187 133 253 | 1[|sqesep i 11 68.29 3564 190 250
2 |rqesep 2y 27 78.96 38.84 148 206 |2 [wferen ma 16 88.46 asas 125 184 |2|iw - i Etenm 8 49.66 18.97 102 182
3| sem 15 43.86 20.14%+ 220 115 |3|c s 15 82.93 5167%+ 231* 172 | 3|afien ¢ i 3 18.62 670 404 68
4w -2 g qonr g 8 23.39 981 068 61 |4]|em-.igqours 6 3317 1593 093 69 |4|im 3 18.62 324 156 68
5|5 % 8 23.39 6.53 165 61 |s|im 5 27.64 1026 172 57 |s|vim 2 12.42 1135 168 45
) ERETE =T orY 4 211 7.20 108 31 |6lsun 4 2211 1351 109 46 |s ; ;‘“ i B 12.42 7.54 193 45
7|5 i 5 14.62 814 230 38 |7[vspcmmipa 4 2211 720 108 46 |7|reizamen 2 12.42 6.49 183 45
8 e 5 14.62 6.70 143 38 |8foap 3 16.59 1236 270 34 |8|wus 2 12.42 534 141 45
9| i m 2 12.42 11.35 168 15 |o)ews 3 16.59 805 143 34 |9lepsrum 2 12.42 456*- 061 45

FEFEREAP TS Courw L
107 & 2 12.42 7.54 193 15 |10l s ame 2 11.06 405 137 23 |10]s 2 12.42 3.69 188 45

Huzagarm | 25 7311 3234 093 191 B AL 7 38.70 2112 067 80 B % T 7 43.46 10.14* 058 159
11|+ s 2 12.42 456*- 061 15 |11|s-mm 1 553 333 068 11 |11|ew -2 gqenm 2 12.42 369* 038 45
12| 5 % 4 11.70 7.54 100 31 |12 o 1 553 284 380 11 |wolsmm 1 6.21 136 249 23
13| 4 & e 4 11.70 4.69 159 31 |13]es 1 553 284 072 11 |13l 1 6.21 094 273 23
14]oe o2t i 3 8.77 352 230 23
15|53 5 2 5.85 2.16 112 15
Wit 14, miwoemE? Lo @i 3794, 1964 7 218,088 % {216, 108~ -

2 AR 1 FROST R R B TR AR S FRFR )RR R F (0=0.05)

3. #&2& iv 5+ = 1t ( Standard mortality ratio, SMR) = 53 it 5= b =@ B2 = e / B = o XA R B g5
4. FH KR L ARTIIN S FLAA P IR E B R A Tt

Z ( Standardized rate) % 22000 W.H.O. & F 4 v Ed 24 5 A o Tk | 2 7B~ > F kg
L

%
c= &4 ¥ F (a=0.05) ¢
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% /105 (2016#)
£ o 7 B ~ B
% P P= Et§  BEC BE 5o |7 — 7= Ai§  BEC BEF - % — Fe F1§  REC RE -
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 75 43103  188.85%+ 130% .00.0 4 g 7 56 50416  27435%+ 149* 00.0 st Ao ] 19 23824 8282 091 000

g 68 30080  17383*+ 153* 90.7 L 52 55172  257.04*+ 171* 929 T g 19 23824 82.82 122 .00.0
1 |sgosep 25 4 28 16092 58.49%+ 272% 373 | 1[wqeser ma 20 212.20 86.87+ 278% 357 |1 |sefesep ey 8  100.31 2860  244* 421
A 1 63.22 42807+ 312¢ 147 |2]-sem 11 11671 68.81%+ 305¢ 1906 |2]|cpsis 2 25.08 14.95 112 105
3lis - tiatrn 9 51.72 1687 066 120 |3|i# -t 5adern 7 7427 2084 075 125 |3|uw.zmiears 2 25.08 474* 068 105
4w -2 g qonr g 6 34.48 1307 093 80 |4|es.imiars 4 42.44 1899 113 71 |alis ot g asenn 2 25.08 428* 045 105
5 e pssa 2 25.08 14.95 112 27 |slsgw 3 31.83 1672 149 54 |5|reiz<men 1 12.54 11.27 166 53
6lms 2 me 3 17.24 1024 217 40 |6|wws 2 21.22 1154 173 36 |6|i# 1 12.54 1056 093 53
HErT 3 17.24 9.24 153 40 |7|rereameon 2 21.22 11.09 246 36 |7 fg ;f FRREAR ALy 12.54 2.96 173 53
8 | sm 3 17.24 8.10 154 40 |8 spcmmsn 1 10.61 601 049 18 |8|wus 1 12.54 2.96 124 53

FEHEE AP TS .
] 4 1 12.54 2.96 173 13 |olv e 1 10.61 383 714 18 |9|vnus 1 12.54 250 860 53
10]s % 2 11.49 637 074 27 [10]s s 1 10.61 332 164 18

R A s 7 40.23 15.02*- 052 93 B AL 4 42.44 17.31% 055 7.1 A T 0 0.00 000 000 00
1] 7 gy 2 11.49 260 776 27 |uls s 1 10.61 332 063 18
bl ERTYE =230 1 10.61 60l 049 13
13]s i 5 1 575 157 085 13

WLl A B REY L v Bk 17,4004 7 129,4254 L HT,9754 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt




Ot B Y% B M R ORE & 2 R T

% F105# (2016 )
£ i 7 <2 + B2
"7 &R i -y HREn Latd R R I 7 Ly RE 3 S R HE 7 4y kA s =
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #7) A e ¥ e Fv = b %

1 R F 61 391.93 178.16 1.27  .00.0 HEF R 7 F 42 511.76 264.92 1.38 .00.0 Eh R 7 F 19 258.22 87.91 1.07  .00.0
Fisern [ w0 smas wsss 1m s | [emern | % ames  230e  1dgr 857 | |semerm | 17 23104 05 143 95
1 Pprfessp 24 18 115.65 46.18 2.12* 295 1 Pprfessph o4 15 182.77 83.83*+  259* 357 1% s 23 fonr g 5 67.95 15.71 1.99 26.3
205 8~ A5 E R 11 70.68 26.79 0.98 18.0 205 # ~ A5 B R 8 97.48 45.29 1.08 19.0 2 PHferFp EE 3 40.77 12.56 1.08 15.8
3|~ o R 8 51.40 18.31 1.48 131 3o 3 36.55 23.50 1.00 7.1 IR SRR Rl 3 40.77 7.79 0.81 15.8
41 4 25.70 16.93 1.32 6.6 N L R CLE L 3 36.55 19.83 1.04 7.1 N BN R A1 2 27.18 17.23 3.92 105
S IREENC = L0k 2 24.37 8.77 1.26 3.3 Sl IERENC: = 29k 2 24.37 8.77 1.26 4.8 5|+ s m 1 13.59 10.00 0.66 53
6l & <H= R 3 19.28 10.71 2.59 4.9 613 & 1 12.18 18.14 0.78 2.4 6| &% 1 13.59 7.43 1.78 53
I RXEELES 1 13.59 10.00 0.66 1.6 HEEE: 1 12.18 10.84 0.59 2.4 I s 1 13.59 6.17 4.66 53
8 | & A& 1 13.59 7.43 1.78 1.6 Gl L ek 1 12.18 9.77 8.57 2.4 811 %#% 1 13.59 3.67 11.45 53
9|5 ® 1 6.43 9.35 0.45 1.6 9 |z %% 1 12.18 8.21 6.47 2.4
10] & & % 1 6.43 6.24 0.59 1.6 |10} 1 12.18 6.87 4.00 2.4
feemisirn [0 wes ma 0w 180 | reacewerm | 6 i 981 09 143 | [ressemarm | 2 2118 7ae o34 105
11/ & fodc o ok 1 6.43 5.62 3.38 16 |1l)=te 2 &<~ B 1 12.18 4.59 1.55 2.4
12) %% 1 6.43 5.01 2.57 1.6 122 4 fr il @ 25 R 1 12.18 4.18 417 24
13] 7% 1 6.43 4.07 241 16 |13} Eva: 1 12.18 4.18 1.47 2.4
14 3 % 1 6.43 2.04 6.93 1.6
15]5% g o3t © oif B 1 6.43 1.62 1.66 16

ot LI BRRERE Y L r i 15,5644 F 48,2074 4 £7,358+% o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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% @105+ (2016# )
& g e L
3 * o R i i R R E Bk e ELE i
» = R OF A = R 9 gHAD ‘F‘,'/,,\;L F o= R 9% S AT

i+ (ICD-10% #f) A i Fe= % =K e i (ICD-104 #f) (¥ = & = & 5 % | (ICD-104 #f) A = 5 Fe =L

T R > 82 269.16 133.20 0.98 HEF R 7 F 53 332.33 178.32 0.99 .00.0 h R 7 29 199.77 0.97

LA e F) 69 226.49 116.92 1.13 Ry 49 307.25 167.32 1.20 925 L R T 25 172.21 1.16
#2578k 17 55.80 25.44 0.89 IR NN R 11 68.97 33.71 0.85 20.8 425847 % 6 41.33 0.97
2 |p{esFp e g 12 39.39 19.99 0.82 2 PferFp EE 9 56.43 30.02 0.88 17.0 ARE 4 27.55 2.66
3|45 - 2B i n 10 32.82 15.51 1.09 A 7 43.89 29.15 1.28 13.2 3|&% ~ Lo R 4 27.55 0.97
4] c 9 29.54 18.56 1.62 415w 6 37.62 24.02 194 11.3 4 e p 2 g 3 20.67 0.65
5|5 % 7 22.98 14.76 2.25 5|25 « & 5o/ R 6 37.62 20.24 1.19 11.3 5|+ 7w 2 13.78 4.83
613 % 5 16.41 8.53 1.34 6 |4 F1% 3 18.81 10.19 244 5.7 6 |- v 2 13.78 6.04
715 7% 2 13.78 9.45 4.83 I EES 2 12.54 6.13 221 3.8 AEEE ] 1 6.89 6.44
8 14 Fik 3 9.85 5.03 2.14 [ ERCE N S 2 12.54 5.24 1.77 3.8 8| i frir i o 1 6.89 3.31
9|t iod » 2y B 3 9.85 2.95 2.98 9|t ird & ey B 2 12.54 5.00 4.89 3.8 9|+ 5 5 % 1 6.89 0.36
10]+ #3545 % 1 6.89 4.02 0.36 10)-=% 1 6.27 3.62 1.97 19 1005 %% 1 6.89 0.86

Hoozbt A ) 13 42.67 16.28*-  0.59 Ho 2t & g & F) 4 25.08 11.00*-  0.31* 75 Ho 2t A g 5 F) 4 27.55 0.48
115 i 2 6.56 291 1.12 11)5 % 1 6.27 2.75 0.45 19 11|12 ¢ 2 mfct © 4 K B 1 6.89 6.18
12| 2 & <= B 2 6.56 1.95 1.02 12]= RESC =X 9% 1 6.27 2.74 0.37 1.9 12)5% 4 fodl i P2 R 1 6.89 1.72
13| 75 (L) e 1 6.27 2.74 0.37
14)verm 1 3.28 191 1.86
15|/ AL frdi fo 50 1 3.28 191 1.92
oo LR RE Y A v i 30,4654 F 115,948+ A 214,5174 o

2 AR SRR A g Tk A AR A FEEFR BRI 2 & (0=0.05)

4. TR KR

2 i

v = ;l.f?

%
s e /WL e %A A E{ RS K4 ME A R (0=0.05) -

7

% ( Standardized rate) % 1220008 WH.O, & F A ¢ Z#2 84 5 A% o Tk ) 2 74EB 5= FHEFM
3. #& % i 5+ = 1t ( Standard mortality ratio, SMR) © LE R
Bt AR IR TG - P eI B R




